Adding Heat to Turn —-20 °C Ice to +120 °C Steam

q=mATc,, Cice=0.50 Cii:
1g of Ice at —20°C => cal & => 1g of Iceat 0°C
q=(1g)-(20°C)-(0.50—~)=10cal
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q=mL; L,=80—

1g of Iceat 0°C => cal => 1g of water at 0°C

q:(lg)-(BO?)ZSO(:al

A=MATCp € =100
1g of water at 0°C => cal & => 1g of water at 100°C
q=(1g)-(100°C)-(1.00 —.—)=100 cal
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g=mlL, L,=540—
1g of water at 100°C => & = 1g of steam at 100°C

q:(lg)~(540%1):540cal

q =m A T Csteam Csteam = 0'48
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1g of steam at 100°C => => 1g of steam at 120°C

q=(1g)-(20°C)-(0.48-3 ) =96 cal
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Adding Heat to 1 g of Ice at -20 C to Make Steam at +120 C
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